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H rk Assign 12 - Soluti
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1.) Problem 18.11 of the text.
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2.) Problem 18.16 of the texte cont tnued
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Note that this amplifier can be analyzed as a shunt-shunt feedback amplifier. This 1s good for

student practice - See Problem 18.25.



ECE 3050 - Fall 2002 Page 3

3.) For each of the MOSFET amplifiers shown below, show how to connect a single
resistor from the output to the input that achieves a series-shunt, series-series, shunt-shunt
and shunt-series negative feedback amplifier. For each of the four configurations,
identify on the schematic the correct variables (voltage or current) for x,, xf, xi, and x,.
The outputs should be at the drain or source of M3.
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